Mathematics

Distributive Property

Mrs Buckmire
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Try this

How do you calculate

23 X 427

Why does your method work?
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Independent task

Match the equivalent expressions.

(x +24)(x+ 1)

s =Sl o )

(x+6)(x+4)

X251 24

(x +12)(x + 2)

i ARk =5

(x +8)(x + 3)
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(x +a)(x + b)

Explore

Fill out the rest of the grid a increases In this direction

= x% 4+ 2x—23 = x? + 3x =x°4+4x+3 =x*4+5x+6 | =x>4+6x+9

x(x +4) (x+Dx+4) (x+2)(x+4)

Can you generalise these

. S
and give the expanded = G034+ B
form of each expression. O =
D
® | |
§ x(x+2) (+DE+2) (c+2)(x+2)
What patterns can you i L - -
Spot? U_D)_ (x —1)(x + 3) x(x + 3) (x+D(x+3) (x+2)(x+3) (x+3)(x+3)
O
D
2
<.
»

patterns?
(x+1)(x+5)
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Explore g increases in this direction
—
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(x +a)(x + b)

(x+1(x+1)

x(x + 2) x+1)x+2) (x+2)(x+2)
(x—1)(x+3) x(x + 3) (x+1)(x+3) (x+2)(x+3) (x+3)(x+3)
=x?+2x—3 = x* + 3x =x?4+4x+3 =x*+5x+6 | =x?+6x+9
x(x+ 4)

(x+ D(x+4)

(x+2)(x+4)

(x+ D(x+5)
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